CITY OF MARATHON, FLORIDA RESOLUTION 2015-99

A RESOLUTION OF THE CITY COUNCIL OF THE CITY OF MARATHON, FLORIDA, APPROVING A TWO YEAR EXTENSION TO THE AGREEMENT BETWEEN THE CITY AND ESSENTIALNET SOLUTIONS, INC. FOR THE PROVISION OF INFORMATION TECHNOLOGY SERVICES IN AN AMOUNT NOT TO EXCEED \$8,392.00 PER MONTH; AUTHORIZING THE CITY MANAGER TO EXECUTE THE EXTENSION AND EXPEND BUDGETED FUNDS ON BEHALF OF THE CITY; AND PROVIDING FOR AN EFFECTIVE DATE

WHEREAS, since 2001, EssentialNet Solutions, Inc. ("Consultant") has provided professional information technology services to the City of Marathon (the "City"); and

WHEREAS, the City continues to require the services of Consultant to provide professional information technology services; and

WHEREAS, the City and Consultant desire to extend the Agreement for an additional two (2) years in an amount not to exceed \$8,392 per month.

NOW, THEREFORE, BE IT RESOLVED BY THE CITY COUNCIL OF THE CITY OF MARATHON, FLORIDA, THAT:

- **Section 1**. The above recitals are true and correct and incorporated herein.
- **Section 2**. A two (2) year extension of the Agreement between the City and Consultant, pursuant to the email correspondence and the previous agreement attached hereto as Exhibit "A," and a detailed Scope of Services as provided in "Exhibit B" is hereby approved. The City Manager is authorized to sign the extension letter and expend budgeted funds on behalf of the City.
 - **Section 3**. This resolution shall take effect immediately upon its adoption.

PASSED AND APPROVED BY THE CITY COUNCIL OF THE CITY OF MARATHON, FLORIDA, THIS 8th DAY OF SEPTEMBER, 2015.

THE CITY OF MARATHON, FLORIDA

Chris Bull, Mayor

AYES:

Keating, Kelly, Senmartin, Zieg, Bull

NOES:

None

ABSENT: ABSTAIN:

None None

ATTEST:

Diane Clavier, City Clerk

(City Seal)

APPROVED AS TO FORM AND LEGALITY FOR THE USE AND RELIANCE OF THE CITY OF MARATHON, FLORIDA ONLY:

David Migut, City Attorney

EXHIBT A

Resolution 2010-74 Included by Reference

EXHIBIT B

Networked Solutions, Inc. dba/EssentialNet Solutions

7145 Turner Rd. Suite 102 Rockledge FL 32955

Proposal

Date	Proposal#		
8/12/2015	3283		

Name / Address	
City of Marathon 9805 Overseas Highway	
Marathon, FL 33050 Attn: George Garrett	
1	

Ship To
City of Marathon
9805 Overseas Highway
Marathon, FL 33050
Attn: George Carrett

		P.O.	No.	Terms	Due Date
				Due on receipt	10/1/2015
Item	Description	Qty	у	Cost	Total
MSL2 CoreNetwork	Levèl 2 Managèd Services Core Networking - 24/7 monitoring - 1 Firewall - 2 Switches - APC - NAS - Unlimited Remote Support	,1		75,00	75.00
MSL2 CoreNetwork	Level 2 Managed Services Core Networking - 24/7 monitoring - 1 Firewall - 2 Switches - APC - NAS - Unlimited Remote Support	9		50.00	450.00
MSL2ServerPhysi	Level 2 Managed Services Physical Server - 24/7 Monitoring - PM - Patch Management - Unlimited Remote Support	3		150.00	450.00
MSL2ServerVirtual	Level 2 Managed Services Virtual Server - 24/7 Monitoring - PM - Patch Management - Unlimited Remote Support	10		125,00	1,250,00
MSL2PC	Level 2 Managed Services Computer - 24/7 Monitoring - PM - Patch Management - Unlimited Remote Support	54		35.00	1,890.00
Remote Backup	Remote Backup Monthly Service	3,700		0,50	1,850.00
Spam Filtering	Sparn Filtering Monthly Service	154		2.00	308.00
Mail Bagging	E-Mail Bagging Monthly Service		1	35.00	35,00
Engineering Labor	IT Manager - up to 24 hours of support per month		1	2,084.00 0.00	2,084.00 0.00
Thank you for the opportunity to quote.			Tot	\$8,392.00	

Customer	Signature			